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e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 31 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.
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QT 3397 :

i) @y AarT &/

(i) ST YH-97 H 31 I97 8 51 IR @US] — 37, &, § 3N T H faunfaa & /

(iii) @US 37 H Uh-Uk 37 dici 4 J97 8 | @US 7 7 6 97 & 574 @ 9% 2 37
FTE | @8 G F 10 I97 @F-d17 371 & & | @ ¢ H 11 ¥97 3 574 @ 39%
4 3% FTE |

(iv) PHAPAR] BT JTIT FH BI 377AIT TETE /|

General Instructions :
(i) All questions are compulsory.

(it)  The question paper consists of 31 questions divided into four sections —A,
B, C and D.

(iti) Section A contains 4 questions of 1 mark each. Section B contains
6 questions of 2 marks each, Section C contains 10 questions of 3 marks

each and Section D contains 11 questions of 4 marks each.

(iv)  Use of calculators is not permitted.

Qs A
SECTION A

97 GE&IT1 G4 T I o7 1 376 F1 5 |

Question numbers 1 to 4 carry 1 mark each.

1. O%%=3 du QOR =M % U g W U el faeg P & TRi@1 PQ Ei= T3
21 I L POR =120°%, @ £ OPQ i AT &1 8 ?

PQ is a tangent drawn from an external point P to a circle with centre
O, QOR is the diameter of the circle. If £~ POR = 120°, what is the
measure of Z OPQ ?
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2. 9. x 8. x 2 H. faweti aret 91g % UH W =AY Hi et 2 @ qS
% 39 A1 H STAT T 2 | 39 YhR & TAT sl H&AT 1A I |
A solid metallic cuboid of dimensions 9 m x8 m x 2 m is melted and
recast into solid cubes of edge 2 m. Find the number of cubes so formed.
3. e feamd wofietor 6x2 —x —k =0 1 T o g 2, a1 k& 79 F1d HIfSq |

If one root of the quadratic equation 6x2 —x —k =0 is %, then find the

value of k.

4. TH 159 el € R % "W 60° HT BT S4I 2 | 39 foieg hl FATE AT

SHifSre Stet =it el e wdl R |

A ladder 15 m long makes an angle of 60° with the wall. Find the height

of the point where the ladder touches the wall.

Qs d
SECTION B

J97 G&IT5 & 10 T I 97 2 371 H1 & |
Question numbers 5 to 10 carry 2 marks each.

5. @ T arhfa #, afe AB = AC ®, a1 fag Fifw f% BE = EC.
A
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In the given figure, if AB = AC, prove that BE = EC.
A

B E C

e AEy (Sfiv a¥) # 53 TR 814 I TTiehar Jd il |
Find the probability that in a leap year there will be 53 Tuesdays.

Ife T U Tgys & o AEE WY (3, 2) F (-1, 0) B AAT 3k foemvl
(2, — 5) W gfdesg a7, a1 317 g1 3wt o e s i |

If two adjacent vertices of a parallelogram are (3, 2) and (- 1, 0) and the
diagonals intersect at (2, — 5), then find the coordinates of the other two
vertices.

Ife T THIGK HGl o 7d UG 1 A AT 39 119 9§ % FNE A & S 7,
Tl IGehT 1841 Ue =T BT ?

If seven times the 7! term of an A.P. is equal to eleven times the gt
term, then what will be its 18" term ?

gt fafira urei o6t e Ty et T | TS SRl Sl UGS 18  HH B 6
TTRrehdl T I |

Two different dice are thrown together. Find the probability that the
product of the numbers appeared is less than 18.

x % foTu g1 i
V3x2 +10x+ 73 =0
Solve for x :
J3x2 + 10x + 74/3 =0
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Qs |
SECTION C

J97 &7 11 & 20 TF Y9 J97 3 3Hl FT & |

Question numbers 11 to 20 carry 3 marks each.

11. & 7 3mpfd #, A ABC, 3 TS YT 1 Th GHeg BYS 2 | 36 1= o1 3w
% figemes Fma hifve |

AY

Ol A0 B

YI A\ 4

In the given figure, A ABC is an equilateral triangle of side 3 units. Find

the coordinates of the other two vertices.

AY C

A (2,0) B
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fag #ifse 6 Biys ABC & i A (-2, 0), B(0, 2) @1 C (2, 0) %,
A DEF T4 3fi¥ D (- 4, 0), F (4, 0) 92T E (0, 4) 8, % 9H&Y 2 |

Show that A ABC with vertices A (— 2, 0), B (0, 2) and C (2, 0) is similar to
A DEF with vertices D (-4, 0), F (4, 0) and E (0, 4).

U HHR At fohet T i B, 39 R H dE T R ST g H AT B
60° 2 | st BT & THT GF HT IAIA IV FA HIT |

The shadow of a tower at a time is three times as long as its shadow
when the angle of elevation of the sun is 60°. Find the angle of elevation

of the sun at the time of the longer shadow.

@ T R H, ABCD Us HHGE =gyd, foeh! YSC AB = 18 @i,
DC = 32 &, AB || DC T ABd AC % &9 I gt 14 &t 8 | IfC A, B, CT
D %! g ARt 7 At aH e & = ©i9 e E, O SrEifhd W 6 Shd
Td HIT |

D 32 &l G
L] J p=
\\ e
A 18 ot B
6
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In the given figure, ABCD is a trapezium with AB || DC, AB = 18 cm,
DC = 32 cm and the distance between AB and AC is 14 cm. If arcs of
equal radii 7 ecm taking A, B, C and D as centres, have been drawn, then
find the area of the shaded region.

D 32 cm C

J\\ J// g

A 18 cm B

foag Aifre f6 g0 & wford st =gy 1 AT A g9l 99 g W
S T stk o 3

Prove that the opposite sides of a quadrilateral circumscribing a circle

subtend supplementary angles at the centre of the circle.

famgatl (3, —2) A (- 3, —4) HI THAW It T@MEETE &I THEWING HH aTd
fargati & freees Fma i |

Find the coordinates of the points of trisection of the line segment joining
the points (3, — 2) and (- 3, — 4).

& T 3fa H, PA A1 PB Tk W@ fag P @ g il wodi@d €, v
PA = 4 3 a1 ~ BAC = 135° 8 | Sitam AB shl &S 3T shifarg |
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In the given figure, PA and PB are tangents to a circle from an external
point P such that PA = 4 cm and £ BAC = 135°. Find the length of chord
AB.

Ffg fgama Tt (x —a) (x—b) + (x—b) (x—¢) + (x —¢) (x —a) = 0 qA
T, A st fFa=b=c 2 |
If the roots of the quadratic equation

(x—a)(x—b)+(x-b)(x—c)+(x—c)(x—a)=0
are equal, then show that a=b =c.

Ife Th AT A & TAH 7 UGT 1 ATHA 49 & 99T YUH 17 YaI T ANTHA
289 2, dl 38 JAH n &I T TN T HIfT |

If the sum of the first 7 terms of an A.P. is 49 and that of the first
17 terms is 289, find the sum of its first n terms.

3 finft =ma &1 s ar 12 T S 3R 5 & Brs & 9@d % 9w IR ™
TR YT AT B Toh S o o3k J58 ol QU @ of | AR hl TTFaTg 1A 1T, |

A wire of diameter 3 mm is wound about a cylinder whose height is 12 cm
and radius 5cm so as to cover the curved surface of the cylinder
completely. Find the length of the wire.
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LG L
SECTION D

J97 &I 21 & 31 TF 9% Jo7 4 3H FT & |

Question numbers 21 to 31 carry 4 marks each.

21.

22.

23.

30/2/2

U S Tge fe 19t s=rd W1 U Ui9-sUC i et oot O STl B | 9%
gfdfed 19t s=rd § 9i9-89Q o foerh i TR Th-Us agdl 8 | AfG Toors §
U990 % P 190 &k 3T Tehd @i, A1 A hioC foh I8 fohad T o
Tocieh § UTH-59T o fodeh ST Tehll 8 AT 384 Pt fohaT 9 S=m |

U T 6l 3Ted W A9 fa=m fafey |

A child puts one five-rupee coin of her saving in the piggy bank on the
first day. She increases her saving by one five-rupee coin daily. If the
piggy bank can hold 190 coins of five rupees in all, find the number of
days she can continue to put the five-rupee coins into it and find the total

money she saved.

Write your views on the habit of saving.

50 . x 40 H. foH1eT I Th AATHRR UTeh H Teh AAHR dlAle &1 2,
oo qreme & 9/ 3T GHE =1eTE il oH =E il 9gt T a9%d 1184 I H.
? | ATeTs hl TS qeT =SS {d I |

In a rectangular park of dimensions 50 m x 40 m, a rectangular pond is

constructed so that the area of grass strip of uniform width surrounding
the pond would be 1184 m?. Find the length and breadth of the pond.

forg Y fop o amr formg @ g0 W @i 7 g1 i@l 1 cwergar wHH
Bl 8 |
Prove that the lengths of two tangents drawn from an external point to a

circle are equal.
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TS UTeh ohl 3hId 7 M. =A™ & I hl 3 | I8 0-7 M. =SB & T&d & B
B3 2 | 39 UEd W HHe & 1 @ H[1d IS, AfG g8ehl oA i et .
T 110% |

A park is of the shape of a circle of diameter 7 m. It is surrounded by a

path of width of 0-7 m. Find the expenditure of cementing the path, if its
cost is ¥ 110 per sq. m.

Tl I AT LA B | 3Teh &ABAl Bl AMHA 116 77 HHY g qAT Ik hegl
% o= 1 gt 6 &ft 2 | gt I Breand s Hifg |

Two circles touch internally. The sum of their areas is 116 & cm? and the
distance between their centres is 6 cm. Find the radii of the circles.

3 Hl. = T UH FHIAT 14 H. TEE qH Wigl T | e FHepreht 1 g a6
5 Hi. =gl T gahR I (Ring) 9 % 7T §0M €9 9 Hamn 1 a1 Th
TR IS4 SHET 1 | 38 1Y hl HATs A1 I |

A well of diameter 3 m is dug 14 m deep. The soil taken out of it is spread
evenly all around it to a width of 5 m to form an embankment. Find the
height of the embankment.

T g H 90 e (Discs) &, N W 1 8 90 I T&AT Afehd & (T Toeah
W TH TEAT) | A 39 g H ¥ U o agesan Ml S 7, a1 sHeh
Tifrepar Ta hifoe T 39 fewr X sifera arft (1) @ 27hi 1 wb T&, (i) 59
favrs s T |

A box contains 90 discs which are numbered from 1 to 90. If one disc is

drawn at random from the box, find the probability that it bears (i) a
two-digit number, (ii) a number divisible by 5.

; - 1+}.+l,aﬁa+b+X¢O, a,b,X¢0'
a+b+x a b x
Solve for x :
1

_— = l+l+l, where a+b+x#0, a,b,x#0.
a+b+x a b x

10
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8 Wl TS T Teh @HEUE AB WU | A Wl g ol 4 Tt Bwn &1 T
I Wi q° B &l g et 3 4l Frsan o1 & g@0 99 T | T/ gd
T GE A % g § TRI@ i |

Draw a line segment AB of length 8 cm. Taking A as the centre, draw a
circle of radius 4 cm and taking B as the centre draw another circle of

radius 3 cm. Construct tangents to each circle from the centre of the

other circle.

7500 Hi. T FAE T ISd gY Th gaTs I H &l W (ships) & IFaTHA
I 30° 9 45° & | Ffe I wrETel wh Eeft Y@ # o waré e @ wh & fem
3 1 T TR % G S A, A1 2 TE % o 1 g 3 R |

[V/3 =1-73 T Hife]

The angles of depression of two ships from an aeroplane flying at the
height of 7500 m are 30° and 45°. If both the ships are in the same line

and on the same side of the aeroplane such that one ship is exactly
behind the other, find the distance between the ships. [Use /3 = 1-73]

Teh @I P i 3Tk YR & AU Th T g1 forelt a8 o hrer T
3R IR UL WA BT Q1 71 | G ;Y 9T T 56 I8 &%, TRV ¥ o

T TS H o A, AW F G FR MG A I F Qi F g
S HIfT |

A hollow cone is cut by a plane parallel to the base at some height and
the upper portion is removed. If the curved surface area of the remainder

is g of the curved surface of the whole cone, find the ratio of the two

parts into which the cone’s altitude is divided.
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